CIELABUS triangle lightness T*
T* YacmL*w - nc=100,

T*cieLagus =50 (YY) 221 (Y,=18, Y,/100Y<=Y,o)
T*n(8,6)=23,T*,(18)=50,T*y(90)=111

log[T*/T*,]=0, m,=0,49
application
range

1,518
1200

BEY81-1A

log(A CIELABu8

AY tristimulus value difference
Yoc=L*w - nc=100,
T*cieLagus =50 (YY) 221 (Y,=18, Y,d/100Y<=Y,0)
log(dY) = (1/2,0) log[2,0¢,/49)] + [1-(1/2,0)] logY)

2
T+,=50, d¥,=4.06 dY,/Y,=0,2257 _.# >

.

application
range

Y,~18
1 Yy=90

log (AY/Y) CIELABUS
_ tristimulus value sensitivity
SOV Yoc=L*w - nc=100,
T*CieLagus =50 (YY) 241 (Y218, Y,d/100Y<=Y,0)
log(dY/Y)= log[2,0(Y,/49)] - (1/2,0) log{/Y,)
= (1/2,0) log[2,0¢,/49)] - (1/2,0) log{)

N
~
~

>
log(dY/Y)E-0,64 m=-0,3% T8
T*,=50, dY,=4,06 dY,/Y,=0,2257 s

application
.. _range
~
2

1
1Y,=18
2 Yw=90

log (Y/AY)
C,=(Y/AY)

CIELABuU8
tristimulus value contrast
Y=L w nc=100,
T*CieLagus =50 (YY) V221 (Y218, ¥,d/100Y<=Y,0)
log(Y/dY)= — log[2,0/,,/49)] + (1/2,0) log{/Y,)

= - (1/2,0) log[2,0¢/49)] + (1/2,0) logy)

T*,=50, dY,=4,06 Y,/dY,=4
10g(Y/dY)=0,64 m,=0,50
-

-

application
1 range

1Y,=18
Y=90

Yn=3.6

TEIT
T,

CIELABUS relative triangle lightness T*/T*,
YocmL*w - nc=100,

T* CieLaBus =50 (/Y2041 (Y,=18, Y,/ 1002Y<=Y,0)
T*n(3,6)=23,T*,(18)=50,T*(90)=111

log[T*/T*]=0, m,=0,49

application
f range
1y,=18
Yy =90

Yn=3.6
BEY81-2A

log(AY/AY,)
AYIAY,

CIELABuUS relative

tristimulus value difference
Yoc=L*w - -nc=100,

T* CieLaBus =50 (YY) 2041 (¥,=18, Y,/ 1002Y<=Y,)
log(dY/dY,) = [1-(1/2,0)] loglf/Y,)

T+,=50, dY,=4,06 dY,/Y,=0,2257 ¢ >

log[(dYY(dY) =0, m,=0,50 .+~ "1
- 1 application
7 1 range

1y,=18
Y=90

YN=3.6

log [(AY/Y) I (AYIY)] CIELABUS relative
_ tistimulus value sensitivity
SSu=@YMIBYN)y . =\, - =100,
T* CieLaBus =50 (YY) 2041 (¥,=18, Y,/ 100Y<=Y,0)
log[(dY/YV)/(dY/Y),] = (1/2,0) log¥/Y,,)

application

i
log[(dY/YY(dY/Y)]=0, m=-04y 1 "S.u
1
T#,=50, dY,=4,08 dY,/Y,=0,2257 |
1y =18
Vy=00

Yn=3.6
log [(Y/AY) I (YIAY),] CIELABUS relative
tistimulus value contrast
CrlCry=(YIAV)(YIAY)y v, =%, 100,

nc=100

T* CieLaBus =50 (YY) 2041 (¥,=18, Y,/ 100Y<=Y,)
logI(Y/dY)/(Y/dY),] = (1/2,0) loglY/Y,)

-
g application

- range

v,=18

Yy =90

YN=3.6




